CHAPTER 6 TEST A



Name: __________________________

Directions: Show all work.


Section: _________________________

1. Which one of the following expressions is equivalent to 
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2. Which one of the following power functions is consistent with the table below?     
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3. Which one of the following expressions is an equivalent form of 
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4. Which one of the following expressions is an equivalent form of 
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5. Which equation represents a circle in the x-y plane with radius 5 and center at (2,3)?

	a. 
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6. Which one of the following is a solution to the equation 
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7. The fine-structure constant is very nearly equal to 1/137. It measures the strength of the electromagnetic force that governs how electrically charged elementary particles                  (e.g., electron, muon) and light (photons) interact.   Write the fine-structure constant in scientific notation.  Use 3 significant digits.


8. The surface area of the Salton Sea is 381 square miles, or about 
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 square feet.  The average depth of the Salton Sea is 31 feet.  Approximate the volume (in cubic feet) of the Salton Sea to two significant digits and write this value in scientific notation.

9. Simplify: 
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10. Write the expression without negative exponents and simplify: 
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11. Write the expression in radical form: 
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12. It is estimated that in 1996 global CO2 emissions were 6518 million metric tons of carbon, and that this represents a 1.7% increase over 1995, continuing a trend of modest growth since a 1990-1993 decline in global CO2 emissions.  Compute the metric tons of CO2 emissions this implies for 1995, and write this quantity in scientific notation.


13. Solve the equation: 
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14. If  
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15. Use the distributive law to expand the product, then simplify: 
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16. Write the equation in standard form.  State the center and radius of the circle.  
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17. Find an equation for the circle whose diameter has endpoints at 
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18. Write an equivalent expression without a radical in the denominator: 
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19. Write an equivalent expression without a radical in the denominator: 
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20. Find both solutions to the equation: 
[image: image55.wmf]54411

xx

+-+=

.  Do not use a calculator and show your work carefully. Hint: Isolate a square root and equate squares twice.
21. Use a calculator to approximate 
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22. Use a calculator to approximate 
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23. The speed of light in a vacuum is 
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.  Thus the expression  
[image: image62.wmf]2

G

c

 has units of meter/kilogram.  Use a calculator to simplify 
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24. Use a calculator to solve the equation 
[image: image64.wmf]73123

xx

-=++

.

25. There are three real solutions to the equation 
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.  Use a calculator to find 4-digit approximations for all three.

Solutions For Chapter 6 Test Form A.

	1. c
	2. a
	3. b
	4. b
	5. f
	6. a


7. The fine structure constant is approximately 
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8. The Salton Sea has a volume of about 
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12. Let x represent the CO2 emissions for 1995, in metric tons.  Then 
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Equivalently, 
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17. The midpoint of the diameter, 
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24. Using the graphing utility, you could zoom in and trace to the solution, or be more precise with a solver algorithm.  It appears the solution is about x = 2.536524449 [image: image91.png]#2815
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 and then using a solver with initial points near each intercept, we have solutions near x = -18.84, x = 0.03012, x = 8.188. [image: image94.png]
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